o AE X4

9l
L Ct.

b

X|
-
o
=

—KI
(-

PArS)

A

7t
=

a0l

|= ZHof

AL, E|AX; Ab=

al Al
e

FEEoly
3R}

2021.11.23.
HENE BT

1. Al 78

O Al

£ IT/SW

MesEo) o

7k, 4Xt

O &0l W&

4

o
[}
O

O AOEE HO|3 WS &8I0 AlZ80|M Ho|Z A
(Meta-universe)0j Al Hjo|AE &

o ol
om_. oF
n
WYL
X0
w100
0 |
oh A
= oo
% o
Ml_ oK
®"oar
olo
T oo
(] |
T o
ol ok
I
< X
PoE
b olo Br
W =
® =
>, Ro-
100 o T
o Kol
Jn X0 =
or OH 77 Kl
HFEEN
Kl 01 1
~ o
®]

MAKING STEP 1

b
3
Ip
B
<0
i
Ws
ouF
A
=4
b
25
g
g2
EE
I
0
oy

Uo =

QI

SXsA
(o]

1

ol
L3

A &8

|
— =

g 1E 3L, AR/VR, GAXZH 3p ZRIE, 223G OFF0|
x

x|

=
=

ADZ0| | RS0 222, HAETY, HEY AR
o
=u
o

O 201997 E =5 2ZEQ 0.2 NU]0| |7, 2022H0 = =&

—_

[EN!
K-
oK

*q
Kk

MAKING STEP 1
oio|F/2E 28 58 aFUeE ygHoge 2y

—_

S
o
o
N
[N
T
T
~

=

: TOXRFAl/20A| ZH(EH B b= 3 A

O MEAA|

20A| 2t

d 31K &

o
2
=

D~ 12

O u=s7|Zt



O MEMT H= Or @ 2021 123 3¢ 23:59 =XF0 ot

He Ho|2E S HI7|L Ho|#H7t B 4 Uct.
TR DY S T O ME ME : &7 ABA
SuF0AC Ag 0|7 u<| Z=dbH . ol MA . ;
Tswage) T/ Sw B S8 2 DRI Sugo|Mel sSWREY, Bfo|H ug O Mz=gd : oY E= : opal0103@ksri.rekr
|} 2w xew Hg U St 0] T2HA AT
0|3 HA K=
° R G 0 29X
ZHont HIAo| o|sh - oA 3 ALY 055-761-7074
ZEay 7|E()
=] Z9} HO|E == 4t
2 —Eil%‘?}_gl Ola_H |:|:rL f‘|||‘|§ od
- OojH & 2
5 Z2IOHY 7IZ=Q) - B0l o5l S Y
- H2F HO[E, AL} S EEOY ALK}
Zzasjq
g ) Cif ~else 2 28
(HAE 7|8h - ZUE 8 switch — case & &&
Z=2021Y 7|%4) B=22| 0|9
? | w=e us for2, while2o| &8
) Z2IY 7|=(5) g0 Zhgat ALSHE
- g0l ol A =8 o2 JHx| g /Y9l 0|9
22 7|4t of Rk
> |olEalo) ofs =5 7|4 Ao{o of |'5H
JEZ| TxEQ| 03
O| Kl E ([A| &F S27 (2Xl09]
2 | o HEHE BaM) [HE (Al D'*[_i' [Ej.:.]
m2s) AEHEO Cfgt ojsf R &#&
o5 M, (%), (22 BEHEY
o dED HEZYE =L Lt ===
(EE 7|t|'_}‘) 2 AEZ HAEZHE 2E(2) CHst ofsl o %%
7|Ef HEHEQS| o5 A =&
2 |QEZ HAEHE #E&(3) M 2|2E S5 8%t 38
ofL oy, AY =7
=2 WRH £ LES 2HU, 0ROl 7|= #5 7|E, ADIE £
= C



mailto:98gobong@hanmail.net

L] 7F Al A

A7HRE MR

e FZAIATYo] Hele
FREE WA AAARE AFstn Rasted Fo gy
1. 33
44,
2. AAARHEY F£F 0] 8E3F

Fozr Ade 9% 24 A8 2 A 8§

2021 9 11 € d

I

FFAaATY At

N o N o4
= A o 2 A
(A+ )
Yy of o
F 2
[(SHAE]
s on o2 a3 ¢ o
(A =)
23549 g3 71z E oo 9 =
(MR 54 )
&7 B

| AAHRE FIMTE AHE WEE B

(A )




